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The Paper in a Nutshell
• No-arbitrage ⇒ E[Mt · Rt ] = 1 with Mt = a + b′Rt

• Market integration implies:

◦ ME ,t = aE + b′

E RE ,t and MB,t = aB + b′

BRB,t

◦ E[MB · RE ] = 1 and E[ME · RB] = 1

• Insight: test for market Integration empirically with

◦ E[MB · RE ]− 1 = αE

◦ E[ME · RB]− 1 = αB

• Frictions (e.g., proportional transaction costs):

◦ Induce SDF parameters with LASSO constraint

◦ M̃E ,t = ãE + b̃′

E RE ,t and M̃B,t = ãB + b̃′

BRB,t
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Cross-Market Pricing Errors (in Monthly BPS)

Without Frictions

With Frictions

• Pricing errors are comparable with typical trading costs

• Conclusion:
“This evidence supports the idea that the stock and bond of
the same issuer are integrated, and compatible with a notion
of no-arbitrage with transaction costs.”
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1) Segmentation vs Trading Costs
• Extreme Segmentation (with log utility):

◦ One Equity Investor: ME ,t = 1/RE ,t

◦ One Bond Investor: MB,t = 1/RB,t

◦ Assume RE ,t ⊥RB,t

• Then:
αE = E[MB · RE ] − 1 = E[MB] · E[RE ] − 1 = E[1/RB] · E[RE ] − 1

≈ 1.00939
1.00557 − 1 = 38 BPS

αB ≈ 1.00557
1.00939 − 1 = −38 BPS
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• Solution: simulation with segmentation + trading costs?
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2) Exploring Trading Costs
• Identification Challenge: Segmentation vs Trading Costs

• Issue: trading anomalies is costly
• Cost mitigating strategies

◦ Novy-Marx and Velikov (2016, 2019)

◦ Only change portfolios after some rules are satisfied

◦ This will reduce trading costs

◦ Will the cross-market αs reduce accordingly?

• Cross-section of strategy turnover

◦ Calculate strategy turnover

◦ Low turnover strategies have lower trading costs

◦ Example: Equity Duration (Gonçalves (2021))

◦ Do cross-market αs vary with strategy turnover?
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Miscellaneous Comments
• Link to Intermediary-based Asset Pricing

◦ Constrained SDFs reflect their respective overall markets
(Figure 6)

◦ So, link between SDFs and intermediary capital risk factor is
hard to interpret

◦ I would drop that part of the analysis

• With weak factors (Giglio, Xiu, and Zhang (2021)), results
can suggest segmentation when none is present (risk factors
just differ across asset classes). Does not matter for your
findings, but makes it hard to generalize the method.

• Small notation issue: Mt = a + b′Rt can only be written as
Mt = ω

′Rt if you include in Rt a risk-free payoff
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Final Remarks

• Very interesting paper that helps us better understand the
integration between stock and bond markets

• It would be useful to:

◦ Better identify whether αs originate from segmentation or
trading costs (maybe both?)

◦ Relatedly, explore how αs vary with trading costs

• Good luck!
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